S388¢

T3S sl

53 3 E

o BV L

RS /% °1Y A

5538 > A

53532 { w &L,

888 56 Q 2/

QRurE Al

SRR & =2

o 5 S5

H385°¢

% 3IFTR

r Transistor Emitter | Base | Collector
4% (4] )
TRI OC44 1-5 143 75
T. 0OC45 0-52 0-64 75
TR3 0C45 .. 09 1-08 75
TR4 OC78D .. 1-08 1-21 87
TR5 OC78t 0-022 0-18 9:0
TR6 OC78%1 0-022 018 90
1 Matched pair.

Resistors 85 0-01#11;
6 250p
R2 Sk B €7 160pF
2 C8 110pF
R3 39kQ B2 Co 300F
R4 82k  Cl ¢10 1100F
R5 82kQ B2 Sl 100
R6 5600 B2 Siz 5ng
R7 Bz ci3 G 10
RO 47k0 Bl g 230K
R10 33k Cl Sle 00LF
RI11 8.2k  Cl1 &7 250”1:
RI2 560Q Cl 2oUD
Cl8 0-02uF
R13 5602 Cl Sio 0-02uF
R14 39kQ G2 C20 1004E
R15 820 C2 o1 oE
R16 56Q  C2 S22 LOOME
R17 1000 D4 o3 O1LF
R18 220k Cl Coa soﬂF
capacitors Coils*
Cl 196pF  E3 L1 23
C2 30pF Bl L2 16
C3 40pF  F4 L3 7-0
Ca 0-04uF B2 L4 —

B2 L5 — T4
B2 Lé — C2
Bl L7 — Cc2
C1 L8 21 C2
Al L9 40 B2
E3 L10 — B2
D4 L11 40 Bl
B2 L12 _ Bl
pidi T 12 A.0 Bt
Bl 14 — Bl
B1 L15 30 _
B2
Bl Miscellaneous*
B a_ 1350
C2 T1 b} 78-0 C1
Bl c total
Ci a 41
C2 T2<b 41 Cc2
D4 c 0-27
X1 OA7T0 Bl
S1-S6 — D3
B4
4 By
1[?‘4 * Approximate D.C. resist=
E4 ance in ohms.
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CIRCUIT ALIGNMENT

1.—Connect an output meter of 32 im-
pedance in place of the speaker, or an
A.C. voltmeter across the speaker.
Connect a signal generator between
chassis and the junction of 83, $4 and
C4. The generator output should be
maintained as low as possible at all
times during the alignment operations
to prevent A.G.C, action from masking
the adjustment peaks.

2.—Switch the receiver to M.W., turn the
tuning gang to minimum capacitance
and the volume control fully clockwise.
Feed in a modulated 470kc/s signal and

3—Turn the tuning gang to maximum
capacitance and check that the pointer
coincides with the high wavelength
ends of the tuning scales.

4. —Loosely couple the signal generator.

output to the ferrite rod aerial coils
L1-LS. Tune the receiver to 500m.
Feed in a 600kc/s signal and adjust
the core of L8 (C2) for maximum out-
put. Then slide the former of L2 (D4)
along the ferrite rod for maximum out-
put.

5.—~Tune the receiver to 214m. Feed
in a 1,400kc/s signal and adjust C9
(Al) and C2 (B1) for maximum output.

), L11, (B1) 6.—Repeat operations 4 and 3,
and L9 (B2) fo1 iudau.... output. Re- 7.—Switch the receiver to L.W. and tune

peat these adjustments until no further
improvement can be obtained.

it to 425m, Feed in a 185kc/s signal
and adjust C8 (Cl1) for maximum out-
put. Then slide the former of L3, L5
(F4) along the ferrite rod for maximum
output.

Switches.—S1-S6 are the on/off and
waveband switches, gardged in a rotary
umt on the printed side of the panel.
The unit is indicated in our front view
illustration of the chassis (location refer-
ence D3) and a detailed sketch is shown
below, where the contacts are drawn
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